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(1) Attempt All questions.

(i1) All questions carry equal marks.
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1. Multiple Choice Questions :
Which one of the following factors is not Ricardo’s development factor ?
(@) Capitalist (6) Landlord
(¢)  Labour Class (d) Unemployment
Repreien fowmr= WEumed HIoal Heeh el
(@) SRR () SRR
(c) =~ =ffeh =i (d) SRR
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Which is last stage of economic development given by Rostow ?
(@) The drive of maturity (b) The traditional Society

(¢) Precondition of take-off (d)  Take-off

I B e e I e B R e i T | T — T
(@) IRTFEEEERES ACAS (b) ORI STaE

(c) SgUIYE e (d) ~ Sgromeree

First Five Year Plan was started in which year ?

(@) 1947 (b) 1949

() 1951 (d) 1961

LIF&Q;I l‘it{qlbﬁch e:l\l\rl"ll ............................ a-sﬁ g-g W

(@) 1947 (b) 1949

() 1951 (d) 1961

Which economist wrote the Optimum Population Theory ?

(@) Karl Marx (b) ~ Cannon
(¢) Malthus (d) Lewis
HIUT AT T Sraed faga Aear ?
(@) 1S A b) HI
(c)  Heo™ d) ofag

In underdeveloped countries per capita income is ..............cc......
(@)  Minimum () Lot of

(¢)  Maximum (d) None of these
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e — s
(@ fowam (b) Ihes
(€ IS (d) ARt R
Indentify the odd option :
(@) Solar Energy (b)  Wind Energy
(¢) Forest d)  Gold
faama wg sleen .
(@) TR e (b) TG S
(¢) =M (d) g M

Saving means ...........cceveeeeeenn.
(@) Consumption + Income () Income + Consumption

(¢)  Income — Consumption (d) Consuption — Income

(@) SUENT + 3 (b) SO + IUEM
(c) 3UA - SUHM (d) SU9F - 3O

The book Wealth of Nations was published in the year .......................

(@) 1876 ®) 1776
(c) 1817 d) 1920
T — o = v
(@) 1876 ®) 1776
(c) 1817 (d) 1920

P.T.O.
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(zx)  Which of the following is internal source of capital formation ?

(@) Saving (b) National income
(¢c) Profit (d) All of these
Teeuh! qede Mid= sl @EF ®iv[ ?
(@ &=d (b) T IAH
() 1 (d) et gd
(x) A General Theory of Employment Interest and Money is written
DY oo,
(@) Keynes (6)  Ricardo
(¢) Rostow (d)  Malthus
-aw m 3:”-&-[ -a-g-l. qi":“ relpa e r{‘iﬂs\"d .................................. -q-i:ﬁ W‘
(@ 4 (b) = fenret
© TR (d) wee™
(Theory)

State the Rostow’s stages of Economic Development.
Or
(fenam)
What is economic growth ? Explain the indicator of economic growth ?
fF IE T w0 el g€ woE v @
Explain the sources of capital formation.
fede WU | |
Or
(fenam)
What is planning ? State types of planning.

fa fa

ERIEEIRASECIC P ECISEIE IR EI RS I
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4. Write short notes on (any two) :
(@) Saving
(b)  Laissez
(c) Theory of optimum population

(d) Renewable resources.

e feur fomr (o d9) -

(@) EEn|
(b) fE=ey
() TIw oaen fagm
(d) IR0 GieE.
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